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Refer to the above diagrams for questions 1(4

1. At what latitudes are the most biomes found?
temperate
2. In the tropics what kind of biome is likely to exist if the annual precipitation is only 160 mm?

desert

3. In temperate regions, what kind of biome exists if the annual precipitation is 890 mm?

chaparral

4. What is the key difference between a temperate and boreal forest(taiga)?

Temperate has a mixture of deciduous and evergreens. Boreal forest has mostly evergreens.

5. Once the St. Lawrence River flows past Quebec City, it widens significantly and the salt concentration increases significantly. What kind of aquatic biome does the St-Lawrence become past Quebec City?

estuary

6. Why are there no corals off the coast of Prince Edward Island?

Temperature is too low

7. Which aquatic biome generates most of the earth’s oxygen?

Oceans

8. What are two impacts of destroying marshlands?

Remove a natural sponge that absorbs excess water and destroy habitat for a variety of animals and birds.
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1. Give examples of mineral ions that are needed for plant growth.

Potassium ion, nitrates, magnesium ion, iron, phosphates,
2. In what soil layer would these be found?

A and B

3. Why is soil a product of both earth and life?

It is a combination of rock and dead material. Much bacteria and fungi also thrive in it.
4. Match the following characteristics with the correct soil layer:

	Characteristic
	Soil layer or horizon

	a) Solid part of lithosphere; eventual base of all other soil layers__R___
	Organic Matter(O)

	b) Large pieces of rock___C_
	Top Soil (A)

	c) has humus(natural compost)  O
	Subsoil(B)

	d) consists of small mineral particles;receives particles from layer A        B
	Weathered Parent rock (C)

	e) a mixture of organic material and minerals A
	Unweathered Parent rock (R)


